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UNIVERSITY OF NORTH BENGAL 

B.A. General Part-II Examination, 2020 
PHILOSOPHY 

PAPER-V 

Logic: Western 

REVISED NEW SYLLABUS 
 

Time Allotted: 1 Hour Full Marks: 25 
The figures in the margin indicate full marks. 

 SECTION-I / [k.M-d / িবভাগ-ক / lewg-d 
 Answer any one of the following 

fdlh ,d iz”u dk mÙkj fyf[k, 

িনmিলিখত েয-েকান একিট pেűর উtর দাও 
dquS ,mVk iz”udks mÙkj ys[uqgksl~ 

10×1 = 10

1.  (a) What do you mean by ‘distribution of terms’? What terms are distributed in 
A, E, I, O Propositions? Discuss with examples. 
^inks dh O;kfIr* ls vki D;k le>rs gaS \ A, E, I, O-izfrKfIr;ksa esa dkSu ls in O;kIr gSa \ 
mnkgj.klfgr O;k[;k dhft,A 
‘পেদর ব°াপ°তা’ বলেত কী েবাঝ ? A, E, I, O-এই চারিট বচেনর েকান ্   েকান ্   পদ ব°াপ° ? উদাহরণসহ 
আেলাচনা কর। 
in&forj.k HkUukys ds cqf>UN \ A, E, I, O izfrKfIrg:ek forfjr in ds gqUN ok ing: 
ds&ds gqUNu~ \ lksnkgj.k ppkZ xuqZgksl~A 

2+3

(b) What is Proposition? Classify propositions according to quality and quantity taken 
together. Give examples of each. 
izfrKfIr fdls dgrs gSa \ xq.k ,oa ifjek.k ds vuqlkj izfrKfIr;ksa dk foHkktu dhft,A 
izR;sd dk mnkgj.k nhft,A 
বচন কােক বেল ? উদাহরণসহ gণ ও পিরমােণর সংযুিkর িভিtেত বচেনর েËণীিবভাগ কর। 
izfrKfIr dsykbZ HkfuUN \ xq.k ,oe~ ifjek.kdks vk/kkjek izfrKfIrg:dks foHkktu 
ns[kkmuqgksl~A izR;sddk mnkgj.k lfgr mYys[k xuqZgksl~A 

2+3

  
2.  (a) Use truth table to determine the validity or invalidity of the following arguments: 

lR;rk lkj.kh dh lgk;rk ls fuEufyf[kr ;qfDr;ksa dh oS/krk ;k voS/krk fuf”pr dhft,% 
সত°সারণীর সাহােয° িনmিলিখত যুিkgিলর ৈবধতা বা অৈবধতা িবচার করঃ 
LkR; lkj.khdks lgk;rk}kjk fnb,dk rdZg:dks oS/krk ok voS/krk fu/kkZj.k xuqZgksl~A 
(i)   )(~)( qpqp ⋅∨⊃  (ii)   )( ONM ⋅⊃  
  )(~ qp ⊃    M~  
 qp ⋅∴ ~   )(~ ON ⋅∴  

2 2
1 +2 2

1
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(b) Determine the validity or invalidity of the following arguments with the help of 
syllogistic rules: 
;qfDrokD;ksa ds fu;eksa dh lgk;rk ls fuEufyf[kr ;qfDr;ksa dh oS/krk ;k voS/krk fuf”pr 
dhft,% 
ন°ােয়র িনয়ম অবলmন কের নীেচর যুিkgিলর ৈবধতা অথবা অৈবধতা িনণর্য় করঃ 
rdZg:dks fu;edks lgk;rk}kjk fuUefyf[kr rdZg:dks oS/krk ok voS/krk fuf”pr xuqZgksl~A 
(i) AOO – 3rd figure (tতীয় সংsান) 
(ii) EAE – 2nd figure (িdতীয় সংsান) 

2 2
1 +2 2

1

  
3. What is ‘scientific method’ of induction? What are its different steps? Explain with 

examples. 
vkxeu dh oSKkfud fof/k D;k gS \ blds fofHkUu pj.k D;k gS \ mnkgj.klfgr O;k[;k 
dhft,A  
আেরােহর ৈবjািনক পdিত বলেত কী েবাঝ ? এর িবিভn ধাপgিল কী কী ? উদাহরণসহ আেলাচনা কর। 
vkxeudks oSKkfud fof/k ds gks \ ;ldk fofo/k pj.kg: ds&ds gqu \ mnkgj.klfgr 
O;k[;k xuqZgksl~A  

3+7

  

 SECTION-II / [k.M-[k / িবভাগ-খ / lewg-[k
 Answer any one question

fdUgha ,d iz”u dk mÙkj nhft, 
েয-েকান একিট pেűর উtর দাও 

dquS ,doVk iz”udk mÙkj ys[uqgksl~ 

10×1 = 10

4. What is conversion? What are the rules of conversion? Can there be simple 
conversion of A Proposition? 
ifjorZu fdls dgrs gSa \ ifjorZu ds fu;e D;k&D;k gs \ D;k A izfrKfIr dk ljy 
ifjorZu laHko gS \  
আবতর্ন কােক বেল ? আবতর্েনর িনয়মgিল কী কী ? A বচেনর সরল আবতর্ন িক সmব ? 
vkorZu ds gks \ vkorZudk fu;eg: ds&ds Nu~ \ ds A mfrKfIrek lkekU; vkorZu 
gqulDN \   

4+4+2=10

  
5. Translate the following arguments into standard forms and determine the validity or 

invalidity with the help of Venn diagram: 
(i) Ram is mortal, because he is a man. 
(ii) He must be happy for he is honest. 

fuEufyf[kr ;qfDr;ksa dks ekud vkdkj esa ifjofrZr dhft, ,oa osu vkjs[k dh enn ls 
budh oS/krk ;k voS/krk fuf”pr dhft,% 
 (i)  jke ej.k”khy gS] D;ksafd og euq’; gSA 
(ii) og vo”; gh lq[kh gS] D;ksfd og bZekunkj gSA 
িনmিলিখত যিুkgিলেক তকর্িবদ°াসmত বচেন rপাnিরত কের েভন িচেtর সাহােয° ৈবধতা বা অৈবধতা 
িবচার করঃ 
(i) রাম মরণশীল, কারণ েস হয় একজন মানুষ। 
(ii) েস অবশ°ই সুখী হেব, কারণ েস সৎ ব°িk। 
fnb,dk rdZg:ykbZ ekud :iek ifjorZu xuqZgksl~ vfu esu js[kkfp=dks lgk;rk}kjk 
fruhg:dks oS/krkdks tk¡p xuqZgksl~A 
(i)  jke ej.k”khy N] dkj.k Å ekful gksA 
(ii) Å vo”; lq[kh N] dkj.k Å bZekUnkj NA 

5+5=10
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6. Use truth table to determine the following statement forms as tautology, self-
contradictory or contingent: 
lR;rk lkj.kh dk iz;ksx djrs gq, ;g fuf”pr dhft, fd fuEufyf[kr dFku #i iqu#fDr] 
Lo&O;k/kkrh ;k vkikfrd gS  
সত°সারণীর সাহােয° িনmিলিখত বচনাকারgিল sতঃসত°, sতঃিমথ°া অথবা আপিতক িনণর্য় করঃ 
lR; lkj.kh dks iz;ksx xnSZ fnb,dk opukdkjg:ckV f}:ä] Lofojks/kj vFkok lEHkkO; 
fu/kkZj.k xuqZgksl~A 
(i) )(~)~( pppp ⊃⋅⊃   
(ii) )]~([~ qqpp ∨⊃⊃  

5+5=10

  
7. Discuss crucial experiments and ad hoc hypothesis.

fu.kkZ;d ijh{k.k ,oa vukSipkfjd izkDdYiuk dh ppkZ dhft,A  
িনণর্ায়ক পরীkণ ও েঠেকা pকl আেলাচনা কর। 
fu.kkZ;d ijh{k.k j rnFkZ izkd~dYiukdks foospuk xuqZgksl~A 

10

  

 SECTION-III / [k.M-x / িবভাগ-গ / lewg-x

8. Answer any five questions: 
fdUgha ik¡p iz”uksa ds mÙkj nhft, % 
েয-েকান পাঁচিট  pেűর উtর দাওঃ 
dquS ik¡poVk iz”udks mÙkj ys[uqgksl~ % 

1×5 = 5

(a) Distinguish between mood and figure. 
ewM ,oa vkÑfr esa varj dhft,A  
মূিতর্ ও সংsােনর মেধ° পাথর্ক° েদখাও। 
ekn (mood) vfu vkÑfr (figure) ek> dks fHkUurk ns[kkmuqgksl~A 

(b) When is an argument valid? 
,d ;qfDr dc oS/k dgk tkrk gS \ 
একিট যুিk কখন ৈবধ হয় ? 
rdZ dfgys oS/k BgNZ \ 

(c) What do you mean by opposition of proposition? 
izfrKfIr dk fojks/k ls vki D;k le>rs gSa \  
বচেনর িবেরািধতা বলেত কী েবাঝ ? 
izfrKfIrdks fojks/kh HkUukys ds cqf>UN \ 

(d) What is a class? 
Js.kh fdls dgrs gs \  
েËণী কী ? 
Js.kh ds gks \ 

(e) What is the function of a copula? 
la;kstd dk D;k dk;Z gS \  
সংেযাজেকর কাজ কী ? 
la;kstd dks dke ds gks \ 
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(f) What is Singular Proposition? 
,dopu izfrKfIr fdls dgrs gSa \   
একক বচন কােক বেল ? 
,dopu izfrKfIr dsykbZ HkfuUN \ 

(g) What is truth function? 
lR;rk Qyu fdls dgrs gSa \ 
সত°ােপkক কােক বেল ? 
lR;rk Qyu dsykbZ HkfuUN \  

(h) What are the three laws of thought? 
fopkj ds rhu fu;e D;k D;k gSa \ 
িচnার িতনিট সূt কী কী ? 
fopkjdk rhu fu;e ds&ds gqu~ \ 

(i) What does 0=PS  mean? 

0=PS  dk vFkZ D;k gS \  
0=PS  এর অথর্ কী ? 
0=PS  ds vFkZ ds gks \ 

(j) What do you mean by existential fallacy? 
lÙkkRed nks’k ls vki D;k le>rs gSa \  
‘অিstমলূক েদাষ ’ বলেত কী েবাঝ ? 
lÙkkRed nks’k HkUukys ds cqf>UN \ 

 
——×—— 

 


